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Albert has a candy bar.  He wants to share it equally with his 2 siblings.  How much of the candy bar should each kid get?





Borris ran 33 miles.  Ellen ran 9 miles.  Frank ran 10 miles.  Cathy ran 18 miles.  Jasper ran 47 miles.  How many miles did the five students run all together?





I started painting a picture at 8:12 P.M.  It took me 55 minutes to finish it.  What time did I finish painting my picture?





Arnold sets up 9 rows of 8 chairs.  88 people have said they are coming to the play.  How many more chairs does Arnold need to set up to make sure everyone gets a chair?








Mrs. Frank is setting up chairs in the gym for the 5th grade play.  She sets out 12 rows of 10 chairs each.  How many people will be able to sit in the chairs to watch the play?








Taylor and his brothers are throwing footballs.  Taylor throws his 67 feet. Kalvin throws his 98 feet. Edgar throws his 45 feet.  How far did the boys throw the footballs altogether?





My book is 1,000 pages long.  The first week I read 235 pages.  The second week I read 453 pages.  The third week I read 122 pages.  How many pages do I still have to read before I finish the book?








William made a cake for his sister’s birthday.  His sister invited 2 friends over to celebrate.  William wants to make sure everyone gets an equal amount of cake.  How much cake should each person get so they all get the same amount?





The farmer wants to put a fence around his triangular garden.  One side of the garden is 4 feet long.  The second side is 3 feet long.  The last side is 5 feet long.  How many feet of fencing does the farmer need to buy to make sure his whole garden is fenced?
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Owen rented 3 video games.  Each game cost him $2 to rent.  He has $10 to start with.  How much money does Owen have left after he rents the video games?





Jimmy has 5 packs of construction paper.  In each pack, there are 80 pieces of construction paper. How many pieces of construction paper does Jimmy have all together?








Goldilocks has 3 bowls of porridge to try.  The first bowl is 95° F.  The second bowl is 42° F.  The third bowl is 80° F.  What’s the difference between the hottest and coolest bowls of porridge?





There are 96 cupcakes for 8 children to share. How much will each person get if they share the cupcakes equally?








Jose has 85 peanuts. Kenya has 48 more than Jose. How many peanuts does Kenya have?





There are 10 stickers on a page. If you have 22 pages of stickers, how many stickers do you have?





The car race started at 2:00.  It lasts 1 hour and 15 minutes.  What time does the car race end?





Mickey bought Minnie 5 bouquets of flowers.  There were 20 flowers in each bouquet.  How many flowers does Minnie have in all?








There are 3 bananas on the table.  6 kids want to equally split the bananas.  How much of a banana should each kid get?





It took Casey 27 minutes to clean his room.  He finished at 4:34.  What time did he start cleaning his room?





Marilyn has 8 boxes with 5 crayons in each box.  She wants to share them equally between herself and 9 friends.  How many crayons does each kid get?





Bruno and Len both have a pizza that is the same size.  Bruno ate 1/3 of his pizza.  Len ate 2/3 of his pizza.  Who ate more pizza, Bruno or Len?





Cathy has a rock with a mass of 87 kg.  Ellie’s rock has a mass of 94 kg.  How much more mass does Ellie’s rock have?





Kaylen made 3 cakes.  She wants to share them equally with her mom.  How much cake do Kaylen and her mom get each?





Walt has 7 small boxes.  He puts 3 cars in each box.  Lilly has 8 small boxes.  She puts 2 cars in each box.  Who has more cars?





Kathy read 3 chapter books.  Each book had 20 chapters.  How many chapters did Kathy read in all?





Last year, Kelly read 20 books.  Each book had 3 sections.  How many sections did Kelly read in all?





Alfred has 87 oranges.  He bought 3 more of them.  Now, he wants to put them equally into 10 baskets.  How many oranges will there be in each of the 10 baskets?








Wendy wants to go to the movie that starts at 7:15.  It is now 6:30.  It takes her 30 minutes to get there.  What time does Wendy need to leave to get to the theater on time?





Leon County High School has 1,254 students.  Orange County High School has 267 more students than Leon County High School.  Seminole County High School has 1,384 students.  Which high school has the most students?









